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1) Draw a midsegment on the triangle.  2)
Show and tell why it is a midsegment.
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5) Find the unknown measures.
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| 4) Find the unknowns.
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12. UOVW is an isosceles
trapezoid. What are the
coordinates of point W?

11. PLAN is a kite. What are

10. RULE is a kite.
the coordinates of point N?

‘What are the coordinates of
point £?
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13. Calculate the measure of each lettered angle. O 5 2y Fy‘% A veasiem to back
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KITE is a kite. The perimeter of KITE is 38 m,
KI=12 gm and X5 =g '

m<TEK = 100" and m<TIK = 50°

m<BKT =7 m<KEI =7and m<TK] =7
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1) Draw a midsegment on the triangle.  2)
Show and tell why it is a midsegment.

4) Find the unknowns.
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@ Calculate the measure of each lettered angle.
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KITE is a kite. The penmeter of KITE 1538

Ki= 12cmandKE 7m

m<TEK = 100 and m<TIE< 50

m<EKI = 7m<I<E;I—7a.ndm<TK[—.
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